GENERAL SCIENCE MOST IMPORTANT QUESTIONS SAMPLE PAPER -19

1.An object is released from a certain height above the ground. Just at the time it touches
the ground, it will possess

Teh a&q @l STH I T AR Far$ & olsT Sidr g1 59| @67 I8 Sl @t
BT, 38 I gham|

a) Heat energy/ 3SUT Sl

b) Chemical energy/ TEIT Fall
) Kinetic energy / 3ol Foll
d) Potential energy/ T&afast Far

Kinetic energy: The energy of an object due to its motion is called kinetic energy. The
kinetic energy of a moving body is given by the formula: K.E.=1/2 mv*.

An object is released from a certain height above the ground. Just at the time it touches
the ground, it will possess kinetic energy. When the body falls from height potential
energy decreases but kinetic energy increases but overall energy remains constant.

fast Foin: frdr a&g @1 AfT & FROT 3HHT oAl HI ATkl Foll Fod 81 IMHATT
O & a1fdst Fel g7 ganr & el §: K.E.= 1/2 mv?|

Teh a&q @l AT & Teh AR Fa1$ & BT ST g1 S & J§ ST @l
YU, SHA MMkl Fall gl o9 RN 1S ¥ FRar § ar ufdst a1 &7 &
ST & ofhe 1fas T d¢ AT & Afhad @91 Fa1 2R wdr B

2. Which blood group is universal acceptor?
hisl AT IFT THg ArasifAs Tdiendm &2

a) O+
b) O-
c) AB-
d) AB+

AB+ is the blood group which is a universal acceptor since it has both kinds of antigens,
which are Antigen A and Antigen B. People having a blood group of AB+ can accept
blood from any person of any blood group.

O is called universal blood donor, but it is not possible to donate negative blood groups
to a positive blood group individual. O- group neither has antigen for blood group nor it
has the antigen for Rh factor, hence O- is a universal donor.
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AB+ U &Fd g ¢ Sl U Arasfiiis wliendl § il 38 el TR &
TS Bl 8, Sl Ueled A 3R Uéle BEId 81 AB+ & (o Heg arel oiar fehel
o T Fopg & Tohdl off cafed @ & FR X §hd g

O I iAadel 578 SIe &gl SIIdl &, fehel Uifolfed sofs I aTel e hl
e sofs Yq SIAe AT THT AAgl g1 O-FHg H o dl W& Fofg & foaw ufdsrr
giar & 3R F & RuFRs & v ufdstst gar g, safav O- v araHifAs arar g1

YOU CAN GIVE YOU CAN RECEIVE
BLOOD TO BLOOD FROM

A+, AB+ A+, A-, O+, O-
O+ O+, A+, B+, AB+ O+, O-
B+ B+, AB+ B+, B-, O+, O-
AB+ AB+ EVERYONE
A- A+, A-, AB+, AB- A-, O-
O- EVERYONE O-
B- B+, B-, AB+, AB- B-, O-
AB- AB+, AB- AB-, A-, B-, O-

3. Which hormone promotes RBC production in bone marrow?

DI T g Y AT § RN IaTeT &) d¢rar ST |2
(a) Serotonin / TR

(b) Somatostatin / JTHCRCTeA

(c) Erythropoietin / TRNTIeA

(d) Cholecystokinine / PIAHIRC TS
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Erythropoiesis: A homeostatic system Erythropoietin (EPO) promotes production of mature red
blood cells in the bone marrow. More red blood cells in the

circulation leads to increased oxygenation and lower levels
of hypoxia-inducible factor, suppressing EPO production.

EPO

Bone
marrow

Erythropoiesis

Increased O2

Hypoxia-inducible factor is
degraded under conditions of normal
oxygen tension. But in anemia or hy-
poxia, it promotes gene transcription
of erythropoietin (EPQ), necessary for
maturation of red blood cells.

Iron is necessary as well for red
blood cell production, Its absorp-
tion and transport are also pro-
Red blood cells  moted by hypoxia-inducible factor
(see Figure 2).

The red blood cells undergo 4 cell divisions in the bone marrow before reaching their
maturation. The amount of DNA, RNA, and protein in the cells vary during these
developmental stages. Erythropoietin is a red blood cell growth control hormone produced
in the kidney. Renal erythropoietic factor (REF) is an enzyme that converts erythropoietin
into an active form called erythropoiesis-stimulating-factor (ESF). Erythropoietin stimulates
the red blood cell division by increasing the synthesis of DNA, RNA, and hemoglobin in the
cells.

Serotonin is a neurotransmitter, and some also consider it a hormone. The body uses it to
send messages between nerve cells. It appears to play a role in mood, emotions, appetite,
and digestion. As the precursor for melatonin, it helps regulate sleep-wake cycles and the
body clock.

Somatostatin produces predominantly neuroendocrine inhibitory effects across multiple
systems. It is known to inhibit Gl, endocrine, exocrine, pancreatic, and pituitary secretions,
as well as modify neurotransmission and memory formation in the CNS.

Cholecystokinin (CCK) is a hormone secreted by the I-cells of the upper small intestine in
response to fat, protein, and some nonnutrients, for example, camostat, and a
peptide/neurotransmitter secreted by neurons of the central and peripheral nervous
systems.

mwaﬁfﬁmﬁmﬁqﬁmﬁq@ﬁﬁqﬁmmﬁ4ﬁﬁm
fqemTser & oRe 81 g1 faehEcAs TRUN & aR1eT HIRAABT 7 fuag, IRTAT
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AR WA @1 AT AT gl 81 TRAse I F Icurfed T offel TFd Hifrehr
geier AT BT &1 ool TRYGITCH thefeX (INSTH) Teh TollsH & it

TR I TRYNITRAT-300h-hRS (SUATE) AHG Teh Alshd §T H
gRafda &ar g1 eRysfe IRt # fivaw, IRTAT 3R fATATT &
HIITUT T FEThT ol I&Fd hITAAT AHTST & 3aford Hedr 2

WA v ~HAI €, 3R $T 58 Toh gl o AT &1 R gaahr
39T AR HIfAHBT & T w@ewr A5 & AU #ar g1 Ig A3, Hra=s, @
AR araed & AR AHIAT Il gl §1 AT & 3ed & &7 &, Ig alie-
SR & T 3R R A g & [FRIAT S H A Far gl

AL T % yonferal # #&T &7 & ~PUUSHhS WRIUcHS Jd e akar
g1 IE SN3TS, USThisd, Uaahse, 37y 3R eged ara &t aiftd & &
HY-A1Y WCATH H FUSTHAR 3R AR Bl H @MNfUd & & v
STAT ST &

IR e (Feh) adT, N R F& IR-9N9F dcdl & S J I B

3T T ITS-RIAFIIT anT FIfdd T gHATA &, 3G & o, FAree, 3R F
3R g dfFer a9 & Q= Rl Hiidd Teh 9eergs / =gerHe|

4. Which gland is active only till puberty?

D @ 1Y Faa digq db Afha @l 82
(a) Pineal/lﬂﬁﬂa
(b) Thymus / YIgHY

(c) Pituitary / ﬁq&
(d) Hypothalamus /E@m

Thymus gland is active only till puberty. Thymus is a pyramid-shaped lymphoid organ.
In humans, it is immediately beneath the breastbone at the level of the heart. The organ
is called thymus because its shape resembles that of a thyme leaf. The thymus gland is an
essential organ for the development of the immune system. The thymus controls and
harmonizes the entire immune system and the immune functioning of the organism. The
thymus is at its largest and most active during the neonatal and pre-adolescent periods.
After this period the organ gradually disappears and is replaced by fat.

ursAT I dad a& & afsha BT §1 IBAET TH RIfAs & 3R #1 foewiss
39T &1 FISAT H, U§ §&T & TR W SEcdled & &b =i gl g1 39T $Hl ArsHAA
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el ST & Fdifeh BT PR TSTATTA I Il & AT giar &l AT I
ST Jomelr & faema & T Ue Haedes 3097 §1 ASHT §qUT UfaRaT Jotelr
3R e &1 gfaRer sRvume & FafEa iR ey Tnfia #&ar g1 daerd
AR qa-forIRTa®AT & GRIT ATSAE 30 a9 935 3R T8 31T afha giar gl
U AT & alg 3797 UR-ER ImIe g SAar & 3R awr ganr ufaewfa R
STl Bl

5. Which is the most abundant element present in plants?

o o o9 TR A1 H A dd I 91 g?
(a) Iron /FﬁBT
(b) Carbon /W

(c) Nitrogen /:l'lgaﬁlq
(d) Manganese/'a""ltﬂ?r[

Iron: Young leaves are yellow and
white with green veins. Existing
leaves remain green.

Calcium: New leaves mishapen
or stunted. Existing leaves
remain green.

Oxygen (O) '\ g G MU S R | (e

0, oLD
30% Potassium: Yellowing at the
Aﬁ tips and edges, usually in
~ — younger leaves. Dead or yellow

Nitrogen: Upper leaves

are light green where lower
leaves are yellow. Bottom or
older leaves are yellow and shrivelled. patches develop on leaves.

Carbon (C) . ,"" Manganese: Yellow spots Carbon Dioxide: White

b ’ and/or elongated holes deposit on leaves. Stunted
Nitrogen (N) between veins. growth, and plants die back.
8%
Phosphorus (P)
3% Magnesium: Lower leaves — Phosphate: Leaves are darker
Sulfur (S) turn yellow from outside than normal and loss of leaves.
Potassium (K) qoing in. Veins remain green.

1% Calcium (Ca)
Sodium (Na)
Chlorine (Cl)
Magnesium (Mg)
2%

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE /SAMPLE PAPER -19



GENERAL SCIENCE MOST IMPORTANT QUESTIONS SAMPLE PAPER -19

6. Calculate the work done to take an object of mass 10 kg to a height of 20 m. (g = 9.8
m/s?).

10 fohalT gea ATt 1 fonell a&q 1 20 # 1 3OS b o ST H v T HF dr
IOTAT AT (g =9.8 m/s?)

a) 987
b) -9807
) -1960J
d) 19.67

Given, m = 10kg; s =20 m; g = 9.8 m/s’

F =m.g =10 X (-9.8) (The negative sign is taken because the displacement is opposite to
the direction of the force.)

F=-98N
W=F xs=-98 x20

W =-1960 J (The negative sign appears because the direction of the force is opposite to
the direction of displacement so that the work done is negative.)

7. Which one of the following cannot be the unit of 'Pressure'?
afaf@a § O i <aa it sH15 T6T & Thar &7

a) N/m’
b) Kg/m.s?
c) Kg. m/s?
d) Pascal

The pressure is the perpendicular force acting per unit area. SI unit of pressure is Pascal,
which is equivalent to 1 N force acting per sq. meter. It is given by, P = F/a

e Its unit can also be derived from the formula as N/m?
ma _ Kgm/s?
T T m2

e Kg.m/s’ is the derived unit of force.

e 1 pascal = g = =Kg/m.s’

8. Which power plant works on the basis of gravity of earth?

qaéTasgmméw%Wwaﬁamwwic A HIAT g7

a) Geothermal / TSaT2#er
b) Windfarms /[ASweT

c¢) Hydropower / €1€§qu6?

d) Nuclear power/ URHT] AT
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Hydropower plants are used for generating electricity by constructing the dams across
the stream, a turbine is located at the narrowing opening of the dam, waterfalls on the
turbine due to gravity, and this is used to make the motors run to produce electricity.

The geothermal power plant utilizes the temperature inside the earth's surface for
generating electricity.

Windfarms utilize the kinetic energy from the wind to rotate the blade of the turbine and
shaft of the generator so that electrical energy produced.

Nuclear power uses radioactive elements that undergo the controlled chain fission
reaction to generate heat, and this heat used to produce high-pressure steam to rate the
shaft of the generator.

STofdegd | S YA URT & UR Jiel 1 FAT weh Forell dar et &
forT fanar STTdm 8, Ueh <XaTse o & HehloT 3eEresd W REUA giel 8, Jecarehyor
% PRUT WXABA W 3R 8Id 6, IR SHAT 39T TSotell YT T & &T Al
® oIl & forw fomar Srar

fSratesier 9reX oefic forstell Ye1 & & T qedr &1 @dg & 3ieY & d9dAwT
3T T gl

fIShE eXasa & o3 3R SToReX & AT H GAW & oI gar @ st Foil @l
39T I g dlfeh fdegd Fofl 3cdet &l

TRATY] Soit ASTUHT cTedl @1 ITIET HA & S ITAT ScToet el & fow Wl
@ faus gfafear @ Tord &, 3R Ig 3l SelkeX & Ao AT 1T A &
fIT 3T 919 arell T &7 3cUlee Hdl gl

9. Which of the following is an ore of Iron?

Refaf@d # ¥ Sia-a1 &g 3 &

a) Siderite/ HISSIISC
b) Malachite/ Hellhrse
c¢) Bauxite / dIFHISC
d) Anglesite/ TITTHTSE

Naturally occurring mineral from which a metal can be extracted is called an ore. Iron
ores are the minerals from which metallic iron is extracted. Siderite is an ore of Iron. The
chemical formula of siderite is FeCO?. Siderite consist of 48.2% of iron.

The other important ores of iron are:
e Magnetite
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e Hematite
e Goethite
e Limonite

Malachite is an ore of Copper.
Bauxite is an ore of Aluminium.

Anglesite is a minor ore of lead.

Table 1 Types of iron ores and their characteristics
(Source: http:/www.mii.org/Minerals/photoiron.html)

S.No. Name Composition Average % of Iron | Commercial Name
1 Hematite FexOs 70% Red Ore
2 Magnetite Fe; Oy 72.4% Black Ore
3 Limonite FeO(OH).nH,O 59.63% Brown Ore
4 Siderite FeCo; 48.2% Spathic Ore

10. Who is known as the 'Father of Genetics'?

IR & ST & ®7 A HFY S S 82

a) Gregor Mendel / IR H3o
b) T.H. Morgan /& TT Al

¢) Charles Darwin / dTed 3IfdeT
d) James Watson/ S1&g dTcHeT

Gregor Mendel: Through his work on pea plants, discovered the fundamental laws of
inheritance. He is known as father of genetics.

T.H. Morgan was awarded the Nobel Prize in Physiology or Medicine in 1933 for his
discoveries concerning the role played by the chromosome in heredity.

Charles Darwin is best known for his contributions to the theory of natural selection.
James Watson, along with Francis Crick and Maurice Wilkins, credited with discovering the
double helix structure of the DNA molecule.

PR Hzel: FAX & Gl W 39 1T & AreyHT F, _qwaa & Alfors Fzar &
@lsT | 3¢ AT & AT & §T H ST AT B

ITIa Al H IURLT GaRT TS IS AP & FAAT ool Wioll & faw & T
AT T 1933 A Gl a1 AT 7 Al PR § FFATfAd R =
Ur|

A ST A Wi e & [feyid # 3% Aqeree & faw S« S gl
SIFg aredd, Bifad foheh 3R AIRE fafewrd & ary, Sivaw 37 & saa gfoad
LT I @ A 1 AT IT ST B

11. ‘Sericulture’ is related to the:
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a) Growing of fruits / Hel 33T

b) Farming of earthworm / WQHT I W
¢) Rearing of silkworms / IRFRIC UTelel
d) Rearing of honey bees/ HYHFYT UTelal

LARVA

l
/J (Y

DEVELOPING
MOTH

Sericulture is related to the rearing of silkworms. Sericulture is an agro-based industry. It
involves the rearing of silkworms for the production of raw silk. India is the second-
largest producer of silk within the globe. Silk is a fibre made up of two different proteins:

e Sericin protein
e Fibroin protein

Apiculture- Bee farming
Vermiculture- Earthworm farming

Viticulture- Grapes farming

WIHRIT Tlele] [MFARIC Ylelel H FET 1 I[H 3cUIed Teh FY TR 3eher
g1 3T F=d WH & 3cUcT & foIw IAHF & ST I grelar iAeT &1 9Ra e
# WA FT AT FEH F3T 3cUTGeh ¢l A &I IoET-3el WA H el Teh BT
g

- AT 9T
* BISSIgsT ATt
WW—WW

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE /SAMPLE PAPER -19




GENERAL SCIENCE MOST IMPORTANT QUESTIONS SAMPLE PAPER -19

geffehetR- Hg3T Wl

3R B W IR A A

12. The study of algae is known as

arer & 3T FI & ® H ST AT Bl

a) Mycology /AR
b) Phycology / PIShIciiaiT
c) Virology / CIENEIG]
d) Botany/dfcsir

Phycology: The study of Algae is known as Phycology. It is Also referred to as algology
in some spheres, phycology is the study of algae; members of the plant kingdom.
Although they lack stems, roots, and leaves commonly found on terrestrial plants, algae
serve an important role as primary photosynthetic plants in freshwater as well as being a
source of food for various organisms in aquatic environments.

Mycology is the study of fungi.
Virology is the study of the biology of viruses and viral diseases.

Botany is the study of plants.

Phycology: aTel & 37€FT I Phycology & ®I H ST ST &1 30 FS &1l H
Tedlaloll & & H Y ST ST §, Brsshiien Adrel HT JEIAT §; Tolie fharsH
& HEET| YT 3eTeh ¥ AR T T Gl W 9I¢ Sl drel o=l Sist 3R
gfaar &1 HAT 81T &, Ao AS g F wrAfAe gohrer eV gyt o ry-ary
STl arara]er 7 Affieet Shal & #fietet & &d & ®9 & U Agcaqol A
oo €

HISHIclol Phddh I TETTT g

IR aRRE 3R ar—Re Wt & SNa AT &1 e ¥l

gaEafa o ol &1 3reaaa g

13. Butter is

AF@ gl

a) Agel/ 3ol
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b) An emulsion/ 9&IH

c) ASol/ Hiel
d) Not a colloid/ HISS gT
Type of colloidal Dispersed Dispersion | Example
Solution Phase Medium
Foam gas liquid Whipped Cream, Shaving Cream, Soda water
Solid Foam gas solid Cork, pumice stone, Foam rubber
Uquid Aerosol liquid gas Fog, mist, clouds
Emulsion liquid liquid milk, hair cream
Gel liquid solid butter, cheese curd, Jellies, boot polish
Smoke (aerosol) solid gas dust, soot in air
Sol (liquid) solid liquid ink, colloidal gold
Solid sol solid’ solid Ruby glass (gold dispersed in glass), allys

14. Which of the following is the 'fifth state of matter"?
ffaf@a & & 39 9er $r gradt saear §?

a) Plasma / TellaHT

b) Einstein condensate/ 3TSECIA Hoadc

¢) Bose-Einstein condensate / SIH-3T8¥eId HoTdC
d) Newton-Einstein condensate/ rq“aﬂ-ﬁlé@?—r HsAdC

Matters are generally categorized into 3 states:
Solid: Particles are held very close to each other and can't move.
Liquid: Particles are close to each other but they can move around.

Gas: Particles are far from each other as compared to those present in solid or liquid
states and their movement is easy and fast.

Two more states are discovered under extreme circumstances:

Plasma: A superheated matter, so hot that the electrons are ripped away from the atoms
forming an ionized gas.

Bose-Einstein Condensate: A group of atoms cooled to absolute zero temperature(-
273.15 K).

HATHGT &l 3TH dR W 3 Tl & gafieped fohar i &
BIH: VT Teh g & §gd HA9 &1 § AR el w7t T |
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oel: 0T Ueh gEY & &S BId § ofshel & GH Hhd |

e 3 AT el T H HIS[G FUN T Tl F FHUT Teh g8 § g 8ld § 3R
3oTehT AT 3T 3R aF 8l g

faws aRfEufaat & or 3k a3t & @er $r s

CATSHT: Th 31T I3 Uery, ScelT I3 [ solacied U 3afad 39 sae are
TRATO3T & gT & S E

SIE-3MSEENE hsaAde: WA &I Uh HHAG WA Yed AT (-273.15 K) deh 33T
g1 |

Plasma

Gas

‘ ——— Liquid

Solid

Quantum
condensate

15. 25°C is equivalent to how many degrees on the Fahrenheit scale?

25 f33f afcaaa eRAgEe Y9 W fhds B & e &7

a) 80

b) 75

c) 87

d) 77
Celsius is used in most of the world to calculate temperatures. At 0° Celsius, water
freezes and boils at 100 °Celsius.

Fahrenheit is a scale widely used in the United States for calculating temperatures.
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°Fahrenheit = {(9/5) x °Celsius} + 32
°Fahrenheit = {(9/5) x 25} + 32
°Fahrenheit = 45 + 32

°Fahrenheit = 77°

Celsius to Fahrenheit Conversion
Formula

°F = x2+32

T

Fahrenheit

16. What is the mass of 0.3 mole of oxygen?

0.3 urar i &1 goawH @ 27

(a)48g

(b)9.6¢g

(c)4.8g

(d) 3.2g

Mass of one mole of oxygen (O,) = 16g +16 g=32¢g

Then, the mass of 0.3 mole of oxygen atoms = 0.3 x32g=9.6 g

17. Rate of change of displacement is known as

fATAT9eT & gRade & T & F T H AT AT

a) Acceleration/ cdd0T
b) Velocity / ddr
¢) Speed / X
d) Distance/ E@

Rate of change of displacement is known as Velocity. Velocity is a
physical vector quantity, both magnitude and direction are needed to define it.
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farargsr & gRadsT T eT @ AT F T H AT AT gl 397 T Hifds dJax
AT §, 39 9RO == & O gR@AEmer 3R em aat i 3maedsdr gidr B

VELOCITY ACCELERATION

Velocity (v) = displacement [As) Acceleration (a) = change in velocity
over change in time (At) (Av) over change in time (At)

AN
At

18. What is pH of Lemon Juice?
oAig & TH T pH AT Fhefell gl &7

a) 3.8
b) 2.5
) 6.6
d) 5.5

v =

19. Chile Saltpeter is the common name of which of the following?

Rrell ATecdiecy AFTIf@d H & fhder AT 1 87

a) Sodium Bicarbonate / T3TH SEHElIC
b) Sodium Chloride / EI3IH FARSS

¢) Potassium Nitrate / I AScT

d) Sodium Nitrate/ TI3IH ATScC

Chile Saltpeter is the common name of Sodium Nitrate (NaNOs). It is an alkali metal
nitrate salt and is named so because it is found in abundance in Chile.

Sodium Bicarbonate- Baking powder
Sodium chloride- Table salt

Potassium Nitrate- Saltpetre or salt peter
Sodium Nitrate- Chile Salt peter

20. What is the velocity of light in a diamond if the refractive index of diamond with

respect to vacuum is 2.5?
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X F Y1 T A9 FAT ¢ I faTa & d&g & g &7 39adedis 2.58?

a) 1.2x10°m/s
b) 5x10°m/s

c) 1.2x10"m/s
d) 2.5x10°m/s

Given that:
Refractive index of the diamond (ud) =
We know, The velocity of light in vacuum (c) = 3 x 10° m/s

To find the velocity of light in diamond (v)

Now,

:_0r25_3><10 m/s 3><10 m/s_12><108rn/S

Material Refractive Material Refractive

medium index medium index

1.0003 Canada 1853

Balsam

Ice 1L &1l

Water 1#33 Rock salt 1.54

Alcohol 1.36

Kerosene 1.44 Carbon 1.63
disulphide

Fused 1.46

quartz Dense E65
flint glass

Turpentine 1.47

oil Ruby 1771

Benzene 1.50
Sapphire W77

Crown 1l50)

glass Diamond 2.42

21. Which is the only event to prove that light is a transverse wave?

TSI Th 3T AT &, T§ fAcH Hitel arell VAT Gl HlT-8r 87
A. Scattering of light/ JehTI ST YehTOT

B. Interference/ cafdaoT

C. Diffraction/ faada

D. Polarisation/ %ﬂ’lm

Polarization is a property applying to transverse waves that specify the geometrical
orientation of the oscillations. In a transverse wave, the direction of the oscillation is
perpendicular to the direction of motion of the wave. Some Common Examples

of Polarisation are surfaces that reflect polarized light are undisturbed glass, sheet
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plastics, water, and highways. In these instances, light waves that have the electric field
vectors parallel to the surface are reflected a greater degree than those with different
orientations.

Interference: As light falls on a soap bubble it reflects part of the light. Any light goes
into the bubble and is mirrored from the other side of the surface of the bubble. Any of
the beams of light are refracted. When we look at a bubble, we see all these beams of
light.

Scattering of Light: Scattering of light is the phenomenon in which light rays get
deviated from their straight path on striking an obstacle like dust or gas molecules, water
vapors, etc. The scattering of light gives rise to many spectacular phenomena such as
the Tyndall effect.

Diffraction: It occurs when a light wave passes by a corner or through an opening or slit
that is physically the approximate size of, or even smaller than that light's wavelength.
The parallel lines are actually diffraction patterns.

YAROT T 0T § S I AT R A BT § S e & sanfEed
JfATIearE it fAfdse Har Bl Aoy ol & alelel T fewm a’ar v iy dhr
feem & Saad gl §1 YdInuT & $S HATT 3STEI0T d Helg & il Yaiche Tehrel
# gfafdfad & € 3 § 3eifaa &, ofic conffes, gt 3R T et 8o
3CTER0 H, HAE & FAWIR fdegd &9 & deFed dlel Jehrel okal 3elal-37elal
sfffaeare arer A i Jee 7 3w wWafda g £

SHAYTT: S & Th1RT AT & elgel T ISl &, Tg Tl & BEH &l wrafdd
Y ST &1 IS o1 Goher Joldot & STl § 3R JoIgel T TAE & gl R &
IS gIar &1 Sehrer 1 @is o foeor rvafda gl 81 59 g7 fohell Jorgel &l
T &, ar g weprer 1 ¥ el ot s & §)

SRIRT &T FehIUTeT: YehTel ol YehioTel d uRucer § foras werer famol ger ar 3
% 3MUI3TT, STerarsy 3Mfe Sl fohdly aTem @ eadlel W 39e W 9y & faafed g
ST &1 YT & YOI F ClSesel JHIT ST s 2GR U 3c0e gl &1 .

faadet: I8 a9 gaT & ST9 U YhIA aeT Teh Shled § AT Ueh 3¢HCsd AT HIST &
AEIH A IR & S [ $ilfds §9 @ IATAT ITRR &I &, AT 39 Tahrer r
AT 22T § 4 oI 81 IHAAR YWV add & Jadd deat g1

22. Which among the following is used in the manufacturing of rayon?

ffaf@a J & Faer 39dier W= & FAor J Far Jar 82
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a) Sulphuric Acid / TeFIRF T3

b) Hydrochloric Acid / gB3lFaliteh TS
¢) Nitric Acid/ #sfesh TS
d) Boric Acid/ SIR& 31Fel

Acid Uses

Sulphuric Acid Rayon, in lead storage battery, in manufacturing of
hydrochloric acid, alum, fertilizers, drugs, detergents etc.
Hydrochloric Acid | As a bathroom cleaner, tanning of leather, in the dying and
textiles industry, manufacturing gelatine from bones

Nitric Acid Manufacturing ammonium nitrate, TNT, TNB, Picric Acid,
dyes, drugs etc.
Boric Acid As an antiseptic

23. The pH of the solution is given. Which of the solutions has the highest concentration
of hydrogen ions?

faerreT &1 pH ar arar &1 9 ReasT & gBsiele 3=l $1 digdr &d 31w
gl &7

a) 10.1
b) 4.7
c) 24
d) 8.0

The pH level is a measure of the number of Hydrogen ions in a solution. The lower the
solution or compound on the pH scale, the higher will be the concentration of hydrogen
ions. Therefore, the solution having a pH of 2.4 will have the highest concentration of
hydrogen ions.

The pH scale ranges from 0 to 14.

A pH value of 7 is considered neutral, example - water and pH value > 7 is Basic > pH
value < 7 is Acidic

o TR T AT H g83IeTed IAT HT TFEIT FHT Tah 39T gl Gvg dAq= o1
e A7 AR AT Fo 81T, §IS3IoTd 3IAT ST Algl el & 37T gaf|
sgflT, 2.4 & pH Tl Ol & gTSsIoled 3T HI Figar gad 310 gl

v Thel 0 ¥ 14 & o giar &

7T pH AT dCET AT ST g, 381607 - Geil 3R pH A > 7 Hel & > pH AT
<73 T §
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[H;0']1 (M) | [OH™] (M) pH pOH Sample Solution
10t 10718 -1 15 -
10°0r1 | 1074 0 14 ~«— 1MHCI acidic
10 10 1 13 g -
| .— gastric juice
102 1012 2 12 | — lime juice
le— 1 M CH,CO,H (vinegar)
1072 1078 3 1 _}e—— stomach acid
le— wine
107 1071 4 10 . i
l«—— orange juice
10°° 10°° 5 9 ~«— coffee
106 108 6 8 I rain water
1077 107 7 T ~=— pure water neutral
" " |~ blood
10 10 2 e T ocean water
1070 10°5 9 = | baking soda
10710 107 10 4 -
l«—— Milk of Magnesia
101 107 1 3 .
1012 102 12 2 _}«—— household ammonia, NH,
10713 107! 13 1 g, pleach
1074 10%0r1 14 0 —~<— 1M NaOH basic
10715 10! 15 -1 .

Figure 14.2 The pH and pOH scales represent concentrations of [H;0*] and OH™, respectively. The pH and pOH
values of some at standard (25 °C) are shown in this chart.

24. Which of the following classes of animal has/have a two-chambered heart?

Paff@a 7 O g 397 & AR F/E-FelT g giar &7

a) Pisces / AT

b) Amphibia and Reptilia / 33TeR 3R &gq
¢) Reptilia only / hdel Hﬁ'ﬂc’q

d) Amphibia only / Hhael 3HITX

Vertibrate Circulatory System

| Fishes Amphibians Reptiles (except Mammals

Crocodiles)
Gill capillaries  Lung & skin capillaries  Lung Capillaries

—
: : \8 S
N ~ LA

Systemic capillaries  Systemic capillaries Systemic capillaries Systemic capillaries
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Vertebrate Comparison Chart

Body Heart Outer Resp. 02 Embryo Young care
Temp chambers cover and CO2 devel.

Fish Cold 2 Scales Gills External-in In water- None-
water soft eggs usually
Amphibian Cold 3 Moist Skin and Externalin  In water- None
(ectoth skin with  lungs water soft eggs
ermic) mucous
Reptile Cold 3 except Dry skin  Lungs Internal External- None-
alligators with leathery usually
andcrocs 4  scales egg- hatch
Bird Warm 4 Skin with  Lungs Internal External- Parents
(endot feathers hard shell
hermic) hatch
Mammal Warm 4 Skin Lungs Internal Internal- Parents-
born long term

Pisces have a two-chambered heart that has one auricle and one ventricle. Fish have a
single circuit for blood flow and a two-chambered heart that has only a single atrium and
a single ventricle.

Amphibians have a three-chambered heart that has two atria and one ventricle rather
than the two-chambered heart of fish.

Reptiles, except crocodile, have three chambered heart.

Blood from the ventricle travels to the lungs and skin where it is oxygenated and also to
the body. In the ventricle, deoxygenated and oxygenated blood are mixed before being
pumped out of the heart.

ACET & A9l T g -l giar § foad e 3fde 3R e e gar gl

AST H T&d Yag & v v € aRuy 31T & &6 arer geg giar § foas
$ad T 3Hfoig 3R e e gar gl

TR H NA-FeT g giar & T dAo & ar-wellT &g & I9 g o
33T 3R v Fea giar g
HINATS & BIsehl FIGUT HT g el Hefl arelr gia gl

dfgehel & T st 3R caar # Sirar § 61 I8 Jieriislel Ik giam § 3R R
H oft| dfcrer H, T & 91X 99 TFU S & ugel el Ued 3R 3ferdieeT
o T AT STl g

25. Which of the following tissue develops from the ectoderm of the embryo?
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PRI 3 FleT G Fad 4O F wISH & RERE g ¥

a) Nervous Tissue / df3dr Fddh

b) Muscular Tissue / AT S

¢) Connective Tissue / 2T Fdeh

d) None of the above/ 378 & &5 o =gl

From the ectoderm of the embryo, the nervous tissue develops. Nervous

Tissue: Nervous tissue makes up the central nervous system & other peripherals' in
our body. From the ectoderm of the embryo, the nervous tissue develops. It reflects the
ability to transmit & initiate nerve impulses.

Components of Nervous Tissue: There are three main components of nervous tissue
which are as follows:

Neurons: These are the functional & structural units of the nervous system. It
comprises a cell body, dendrites & axon.

Neuroglia: These special cells found in the spinal cord & brain. They provide support to
the fibers & the neurons.

Neurosecretory Cells: These cells function as endocrine organs in our body.
Neurosecretory Cells release the chemical from the axons & put it directly into the
blood.

OT & TFeISH @, ATl Scfeh [afAd giar 1 el Scdeh: df¥er S gAR
W A FAT df¥er dF 3R 31T e 3UFRON 1 ST g1 0T & TeesH b,
dR&T Faes faefad gdar g1 I8 af¥er g & FaTid 3R 3R FaA 6T
&TAAT Y golfar &

df3ehT Fdeh & " dfEeT Sds & didl HET °ch 8id o ol 30 TN &

TR A AT dF T FrdicAs IR GT1cHS ghedl §1 SHH Teh Aol &9y,
sgscy 3R vFdleTr enfAe g

=URerr: g 1 g331 3R ARTF # a1$ A arelr T Aw MWW T FFAt
AR FUeE F HETIAT YTl Hd o

dfyer Iy FRNFT: ¥ FRFT gAR R F 3iT:IE 30T & & F S Far
g1 dfFe aret SRS JaTdg & W oisdr § 3R 3§ @Y & 7 st g
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Human embryonic disk at 18 days
three-quarter view

body stalk

——
==

embryonic

ohisld primitive

streak
T primitive
node

Yolk sac
(lined with endoderm)

Amniotic cavity
containing
amniotic fluid

Amnion

Endometrium /

cross section

amniotic
cavity

ectoderm

e gt B B

notochord

yolk sac

endoderm
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Maternal
blood pool

Chorion (derived
from blastocyst
cavity membrane)

Allantois

Endoderm layer Mesoderm layer

becomes: becomes:
1) Digestive system 1) Circulatory system
2) Liver 2) Lungs (epithelial layers)

3) Pancreas
4) Lungs (inner layers)

3) Skeletal system
4) Muscular system

Ectoderm layer
becomes:

1) Hair

2) Nails

3) Skin

4) Nervous system
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